TZQ\I‘\{w feCflon Qo" X @\ 2

(I) /P\'\h c\g\g DQ wo\-\t CusA €her3~\
“

%3 Nzw‘\o\s's 2"“x \ @ W

Z F = = 3&'
)

/ l g--»a.cco.&zru:k“\cm O’Q

Sum ()Q exkr“q\ C*’AC( QQ nals
Qavtes Totel
e q

T‘K\‘l égo‘\' ‘)Vacl»vd\’ w’lx\\’-\; i

. -5 O 5 .
. Ty ”“jﬁl v Zhﬁ(v-v)—%mﬁ.‘(‘\’q

gz‘;’d? z S ém d(v?) = é‘h!\r(lm-gm\r’(m
iz A7 ()

\NO\’\‘ e Z E‘ A‘:‘ - __/‘ hf\r: e _"_M’\rd —L—) C\'\Q\\‘sl \\»
< 2
\(\N\'T\ QNRJ
3

WA N N (ED } viaigter . ok

N - !\r(?,_\




(n) E\rc.\ vc.'\\\t\s ‘\'\-e \,o\—\t

A A
v. =
U = f > F.dv
£
o S
V = é_: = \Vp ét = AS éh St QQOPJ§\~:A’{, e "QJ
IR J :

alorng Mo padh
in x«hscn\‘\u\ /ho\'h\a\ % \>

—> o = Js &, = ZF.IF - (ZF.e0ds -ZF s

EX s 422

Problem 15.121 The coefficients of friction between
the 20-kg crate and the inclined surface are p; = 0.24
and ju; = 0.22. If the crate starts from rest and the hor-
izontal force F = 200 N, what is the magnitude of the
velocity of the crate when it has moved 2 m?
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Problem 15.111 An object is subjected to the force 2
F=yi—xj(N),wherexandyminmeters. (1, 1)m

(a) Show that F is not conservative.

(b) Suppose the object moves from point 1 to point 2 A
along the paths A and B shown in Problem 15.110.
Determine the work done by F along each path.
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Problem 15.92 The spring constant k = 700 N/m. The
masses m4 = 14 kg and mp = 18 kg. The horizontal bar
is smooth. At the instant shown, the spring is unstretched
and the mass B is moving downward at 1 m/s. How fast
is B moving when it has moved downward 0.2 m from
its present position?
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Problem 15.40 A stunt driver wants to drive a car
through the circular loop of radius R = 5 m, Determine
the minimum velocity vy at which the car can enter the
loop and coast through without losing contact with the
track. What is the car’s velocity at the top of the loop?
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Problem 15.117 Determine which of the following are
conservative.
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Problem 16.123  An aircraft arresting system is used to
stop airplanes whose braking systems fail. The system
stops a 47.5-Mg airplane moving at 80 m/s in 9.15 s,

(a) What impulse is applied to the airplane during the
9.15 s?

(b) What is the average deceleration to which the
passengers are subjected?
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Problem 16.52 A bullet with a mass of 3.6 grams is
moving horizontally with velocity v and strikes a 5-kg
block of wood, becoming embedded in it. After the
impact, the bullet and block slide 24 mm across the floor.
The coefficient of kinetic friction between the block and
the floor is yu, = 0.4. Determine the velocity v,
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EX A4C.S3
Problem 16.53 A 0.12-ounce bullet hits a suspended
lSlbbbckofwoodmdbecomembeddedmlLﬂ\e
angle through which the wires supporting the block rotate
as a result of the impact is measured and determined to
be 7°. What was the bullet’s velocity?
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EX 16 A»

Problem 16.133 The 10-kg mass A is moving at 5 m/s
when it is 1 m from the stationary 10-kg mass B. The
coefficient of kinetic friction between the floor and the
two masses is ;tx = 0.6, and the coefficient of restitution
of the impact is ¢ = 0.5. Determine how far B moves
from its initial position as a result of the impact.
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Problem 16.140 A ball is given a horizontal velocity
of 3 m/s at 2 m above the smooth floor. Determine the
distance D between the ball’s first and second bounces
if the coefficient of restitution is e = 0.6.
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